EARAROBREBRT —5 XN—ZXBISH—F

20224658158 (B) 10#S4H

3R S i

‘(fﬁ} W ‘I%EH?’JF&] ~ | 5 1800 7m

[AE%] 1 7%:5,200,000 § ~ 237 :2,100,000 @ .~ 37 :1,300,000 4 3&:780,000 § . 5 7&:520,000 H

B RS RS R 1 B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
— o " SHER : -2-2- MTFRL (ER)
1 10| TAS—/AO—2 B3 e 1.(%1).4 2-2-2-1 [39.5|86.2 | 1 (4136) éﬁamrx
RIRSSAYF B:RA—RIJLR—)L T URURIS
= s HELLFEA : -5-3- HERE (H)
5] 9| TXSLEYUT 4 3 A i 1.(545).1 5-5-3-4 | 39.9| 80.5 | 6 (4+362) i
R:E-UR B:ErIFY—5— ERSEHEKES
W EF— V) — st 3 | BB 1:55.1 8-6-5-4 |39.7] 80.4 | 3 50 | FEEX FH)
3/5|8|/\vE=/IU 54.0 ZE) ) | BBEX
RPIFITRAFUR B:N\wE—/L—R J=HUT7—L
3y £ 3 | ENBEE 1:55.1 9-10-6-4 |39.6| 80.4 | 5 | 432 |EEHMA EH)
41814 =YL A7 ! 54.0 (\F) 14) | @) BRK—2L—>T
RIN=YISA B:RU—TFITAY #HET7—L
g5 i 3 | REN 1:55.1 13-13-10-8 | 39.2 | 80.2 | 11 | 422 [/v&LE (@)
518/15/ ¥aTwvIT4FY A51.0 P -13) | 0 BERE
RiIW—5—YvF B:AILIIU—X HMHRI Y R
°= .o st 3 | AVRALC 1:55.3 2-3-3-2 | 40.2| 79.0 | 12 | 468 |BEA— FR)
617112 B=RDNST AR 252.0 (3/4) (g |FEWE )
RIIET7RAT7 B:FZIWA/T7 ailll &
~ - t 3 | BEEA 1:55.8 11-12-9-8 | 40.1| 74.8 | 14 | 412 | KFOEM (GSR)
7172|13| EVIFHTFA7 380 5 (o |BTEAN-LF (IR @)
RFVITAANXN &:T)—0O0-92R BHHES
w L 3 | FIRER 1:55.9 9-9-6-4 |40.4| 743 | 7 504 | EFERE (H)
8 5 | 7ZROU Y ! 54.0 @E) 4y |7HROYSTLYRIST
R:7ROFVITL BRIFAvII— AEYRL e
s 3 | Ro@EE 1:56.2 11-11-10-10{ 40.3 | 71.7 | 15 | 438 |HALAFHE GSH)
9 7 AXA I+ ¥¢53.0 (1 3/4) 4y |BEHE—
R:TJUA—=Y ®&:J0-UT7A B B
\ =2 s 3 | EHET 1:56.9 14-14-10-10| 41.0 | 66.8 | 9 506 | SHEh (%)
100811 YIbNO—X 54.0 ) (6) | BRI
RPIPITAFUVR B:O0/4VILTYw/N— N EHuE
=5 t 3 | AEXA 1:57.1 4-4-6-10 | 41.6| 66.0 | 4 Mo | EREE (=)
111 | 7A9370-U7 ! £52.0 (1178 Ly | ) ESATU—g-2.2=7
R:o07% B:FRISETRUT NIUAT7—1
5= o3| RuLAE 1:58.2 15-15-15-15| 40.1 | 54.9 | 8 504 |t SR GEE)
Nk 4| 7TVT £ 3¢53.0 @) e | B G1L—vvT
RiNSXYF BNVITSY EHT7—L
—_——ny = MAAHE 1:59.4 1-1-1-2 | 44. . 2 4! ZILER (FER)
1300 6 | TF==FLFLY [B] LR V0 > o3¢ (556) SEEIER
RIIZRTVFLUY B:JUR—TUVER & S
S =~ s 3 | ERGEE 2:01.7 6-6-14-14 | 43.9| 36.7 | 10 410 | MEBR RFR)
1uBl 2 | Y PILLSYT 54.0 (514) e | @ FrOvhor—n
RYNITSIY BLAVR—Y YT J—YYT7—L
W 4t 3 | BEAA 2:02.8 6-6-13-13 | 46.0 | 34.5 | 13 | 462 |ZEE—EB (=)
15l 3| TAAYF 54.0 ) () |AEES
RibwYI—LR BT FIVY— SEIES
[ BN
En'y 52.3-39.5
NOYIAL | 12.6-11.2-12.5-13.1-12.7-12.8-13.4-13.0-13.1
@ 11— —BBIEIL
13—7F— 6(10,12)1,9(2,3)8(5,14) (7,13)-15,11=4
20— — 6,10,12,1,9-(2,3,8)-5,14,7,13,15,11=4
Ia=5r= (+6,10) (9,12)8(1,5,14)13(7,15,11)=3=2-4
40—7F— (6,%10,12) (9,5,8,14) (13,15) (1,7,11)=3=2,4
0 ILRE
BB 10 370 JA R 9-10 690M & 5-6 620/ 3EE 8-9-10 2,660
B B 10 1604 8-10 3904 o 18 9-10 1,920 3Es 10-9-8 14,290M3
9 2504 8-9 710 oS- 10-9 3,090
8 160/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




